X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEA(69.2) #2: 1 %”%(53.55) #3: 13 Brk(51.28)
1 NS: E=y¢6HE 5RERKGHO) -8 7 NS: RER FBIF(BAC) -1 VP:| 1251 : 7.49 Total VP: 53.55 Rank:
EW: ZIE¥ SEHEAC) 1 EW: 5HE S5 E(B0) 8 IMP:| 32 : 25 2
o
#1 »J 5CXW-1 100 Mean: 4HXS5 690 9.0 1 [[# 2 a8 4SE-1 50 Mean: 4SW-1 50 60 1
v AQJ72 5CXW6 -650 270  4HXN4 590 80 1 v KT94 3SE3 -140 -170  4SE-1 50 60 1
¢ 643 Dif: 750 NS:-5 4HS6 480 50 1 ¢ QJB74 Dif: 190 NS:6 P 0 50 2
» 7652 IMP: 13 EW:14 4HS4 420 40 4 » QJ2 IMP: 5 EW:-1 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
* AKJ * QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 [|& K96 ~ T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 45 5CXW6  -650 -140 1 ||S ~~2 ~~ ¢32
E 44~~~ &Q3 E ~~~32 &A853
W 44~~~ ~~~33
# 3 s T82 3DW-1 100 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4SN5 650 Mean: 4SN6 680 2.0 1
v J52 2NW-1100 40  3DW-1 100 20 2 v 942 4SN5 650 620  3NS6 690 2.0 1
+ K8 Dif: 0 NS:2 3DE-1 100 20 1 ¢ T5 Dif: 0 NS:1 5SN5 650 1.0 1
& AQ974 IMP: 0 EW:-2 2NW-1 100 20 1 & J95 IMP: 0 EW:-1 4SS5 650 1.0 2
s Q3  J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4Ss4 620 00 1
& K3 » 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1||IN 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ &JT 1NW3 450 50 2 ||E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 5HXS-2 -500 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 6DW?7 -1390 Mean: 3SE7 260 150 1
v J7653 4SXE6 -790 -280 3NS4 630 140 1 v K85 6NE7 -1470 -1520 6DW?7 1390 4.0 1
* AQT2 Dif: 290 NS:-6 5SXE-2 300 11.0 1 * 84 Dif: 80 NS:4 6NW7 1470 2.0 3
» 84 IMP: 7 EW:11  3HN4 170 100 1 » QT3 IMP: 2 EW:-2 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
& AQ6532 » JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~ 2~ ~ ¢ AQ984 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 3NN3 600 Mean: 3NN5 660 60 5 ||# 8 » J972 6DW-3 150 Mean: 6DW-3 150 40 1
v AKJ32 3NN4 630 430  3NN4 630 50 3 v J8753 38S-1-50 10  3SS3 140 40 2
+ AQ3 Dif: -30 NS:5 3NN3 600 50 1 ¢ 72 Dif: 200 NS:4 2SS4 170 40 1
& K86 IMP: -1 EW:-5 A 00 6 & K4 IMP: 5 EW:2 2SS2 110 30 2
QT # J9854 2HW-4 400 10 1 ||aA ~ T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 &
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 * AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 94 3NN-1 100 110 1 ||N ~~~2 ~ ¢ KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 4 JT974 4HE4 -620 Mean: 4HW-1 100 9.0 5 ([|# 10 4 AJ5 4HE4 -620 Mean: 2SS3 140 60 1
w5 4HE-1100 -300 4HE-1 100 9.0 1 v T5 2882110 -110  28S2 110 6.0 1
* AJB6 Dif: -720 NS:-8 2HW4 170 40 2 ¢ JT73 Dif: -730 NS:-11 P 0 30 6
» 964 IMP: -12 EW:-9 A 00 6 & QJT5 IMP: -12 EW:-6 A 00 6
& AK32 » Q8 3NW3 600 -7.0 1 ||a Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
* AJT » Q83 4SXN-4 800 -11.0 1 | |a A8632 » 74 3HE4 470 20 1
¢V AN 4,65 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEAZ(69.2) #2: 1 FHEE(53.55) #3: 13 B (51.28)
2 NS: E=EE £HRGEO) 8 1 5 NS: HBEE B&EEAC) -24 VP:| 17.68 : 2.32 Total VP: 48.78 Rank:
EW: E&HH 2k J51EEAC) 24 EW: #iRE EE2E(BO) -8 IMP:| 39 10 4
# 1 aJ 4HS4 420 Mean: 4HXS5 690 9.0 1 ||# 2 a8 4SW-1 50 Mean: 4SW-1 50 60 1
v AQJ72 4HN4 420 270  4HXN4 590 80 1 v KT94 4SW4 -420 -170  4SE-1 50 60 1
¢ 643 Dif: 0 NS:4 4HS6 480 50 1 ¢ QJ874 Dif: 470 NS:6 P 0 50 2
» 7652 IMP: 0 EW:-4 4HS4 420 40 4 » QJ2 IMP: 10 EW:6 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
¢ AKJ * QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 [|& K96 ~ T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 45 5CXW6  -650 -140 1 ||S ~~2 ~~ ¢32
E 44~~~ &Q3 E ~~~32 &A853
W 44~~~ ~~~33
# 3 s T82 1NW3 -150 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4S5S4 620 Mean: 4SN6 680 2.0 1
v J52 1NW-1100 40  3DW-1 100 20 2 v 942 4SN5 650 620 3NS6 690 2.0 1
+ K8 Dif: -250 NS:-5 3DE-1 100 20 1 ¢ T5 Dif: -30 NS:0 5SN5 650 1.0 1
& AQ974 IMP: -6 EW:-2 2NW-1 100 20 1 & J95 IMP: -1 EW:-1 4SS5 650 1.0 2
s Q3 ~ J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4S8s4 620 00 1
& K3 » 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1[N 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ aJT 1INW3 50 50 2 [|E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 5HS-3 -300 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 6NW?7 -1470 Mean: 3SE7 260 150 1
v J7653 5SXE6 -750 -280 3NS4 630 140 1 v K85 6NE7 -1470 -1520 6DW?7 1390 4.0 1
* AQT2 Dif: 450 NS:-1 5SXE-2 300 11.0 1 * 84 Dif: 0 NS:2 6NW7 1470 2.0 3
» 84 IMP: 10 EW:10 3HN4 170 100 1 » QT3 IMP: 0 EW:-2 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
& AQ6532 » JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~ 2~ ~ ¢ AQ984 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 1HW-2 200 Mean: 3NN5 660 60 5 ||# 8 » J972 4DW-1 50 Mean: 6DW-3 150 40 1
v AKJ32 3NN-1-100 430  3NN4 630 50 3 v J8753 2SS2110 10  3SS3 140 40 2
+ AQ3 Dif: 300 NS:-6 3NN3 600 50 1 ¢ 72 Dif: -60 NS:1 2SS4 170 40 1
& K86 IMP: 7 EW:11 A 00 6 & K4 IMP: -2 EW:-3 2SS2 110 30 2
QT # J9854 2HW-4 400 10 1 |[aA ~ T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 &
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 * AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 94 3NN-1 100 110 1 ||N ~~~2 ~ ¢ KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 4 JT974 4HW-1 100 Mean: 4HW-1 100 9.0 5 ([|# 10 4 AJ5 3HE4 -170 Mean: 2SS3 140 60 1
w5 4HW4 -620 -300 4HE-1 100 9.0 1 v T5 3HE3 -140 -110  2SS2 110 6.0 1
+» AJB6 Dif: 720 NS:9 2HW4 170 40 2 ¢ JT73 Dif: -30 Ns:2 P 0 30 6
» 964 IMP: 12 EW:8 A 00 6 & QJT5 IMP: -1 EW:1 A 00 6
& AK32 » Q8 3NW3 600 -7.0 1 ||a Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
& AJT » Q83 4SXN-4 800 -11.0 1 | |a A8632 » 74 3HE4 470 20 1
¢VABN 465 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEA(69.2) #2: 1 %”%(53.55) #3: 13 Brk(51.28)
3 NS: Z$EE( EHF1(BEO) -1 11 NS: $E3555 [RER(EAC) -21 VP:| 14.28 : 5.72 Total VP: 46.56 Rank:
EW: E$553 8FEREEAC) 21 EW: EFE RttI5(BA0O) 1 IMP:| 24 1 5
-
# 1 aJ 4HN4 420 Mean: 4HXS5 690 9.0 1 ||# 2 a8 4SW4 -420 Mean: 4SW-1 50 60 1
v AQJ72 5HN-1-50 270  4HXN4 500 8.0 1 v KT94 4SE4 -420 170  4SE-1 50 60 1
¢ 643 Dif: 470 NS:4 4HS6 480 50 1 ¢ QU874 Dif: 0 NS:-6 P 0 50 2
» 7652 IMP: 10 EW:8 4HS4 420 40 4 » QJ2 IMP: 0 EW:6 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
¢ AKJ * QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 ||& K96 a T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 5 5CXW6 650 -14.0 1 ||S ~~2 ~~ 432
E 44~~~ 403 E ~~~32 %A853
W 44~~~ ~~~33
# 3 s T82 3NW-3 300 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4SN5 650 Mean: 4SN6 680 2.0 1
v J52 3CN-1-50 40 3DW-1 100 20 2 v 942 3NS6 690 620  3NS6 690 2.0 1
+ K8 Dif: 350 NS:6 3DE-1 100 20 1 ¢ T5 Dif: -40 NS:1 5SN5 650 1.0 1
& AQ974 IMP: 8 EW:3 2NW-1 100 20 1 & J95 IMP: -1 EW:-2 4SS5 650 1.0 2
s Q3 ~ J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4Ss4 620 00 1
& K3 & 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1||IN 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ &JT 1NW3 450 50 2 ||E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 4SE6 -480 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 6NE6 -1440 Mean: 3SE7 260 150 1
v J7653 4SE4 -420 -280 3NS4 630 140 1 v K85 6NE7 -1470 -1520 6DW?7 1390 4.0 1
* AQT2 Dif: -60 NS:-5 5SXE-2 300 11.0 1 * 84 Dif: 30 NS:2 6NW7 1470 2.0 3
» 84 IMP: -2 EW:4 3HN4 170 100 1 » QT3 IMP: 1 EW:-2 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
& AQ6532 a JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~2 ~~ »AQ94 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 1NN4 180 Mean: 3NN5 660 60 5 ||# 8 » J972 3DW4 -130 Mean: 6DW-3 150 40 1
v AKJ32 1NN5210 430  3NN4 630 50 3 v J8753 3DW4 -130 10  3SS3 140 40 2
+ AQ3 Dif: -30 NS:-6 3NN3 600 50 1 ¢ 72 Dif: 0 NS:-4 2SS4 170 40 1
& K86 IMP: -1 EW:6 A 00 6 & K4 IMP: 0 EW:4 2SS2 110 30 2
QT ~ J9854 2HW-4 400 10 1 |[aA a T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 &
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 ¢ AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 w4 3NN-1 100 -11.0 1 |IN ~~~2~ & KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 a4 JT974 2HW4 -170 Mean: 4HW-1 100 9.0 5 |[|# 10 4 AJ5 PO Mean: 2SS3 140 60 1
v5 4HW-1 100 -300 4HE-1 100 9.0 1 v T5 1NN-2 -200 -110  2SS2 110 6.0 1
+ AJB6 Dif: -270 NS:4 2HWA4 170 40 2 ¢ JT73 Dif: 200 NS:3 P 0 30 6
» 964 IMP: -7 EW:9 A 00 6 & QJT5 IMP:5 EW:3 A 00 6
& AK32 4 Q8 3NW3 600 -70 1 ||s Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
& AJT » Q83 4SXN-4 800 -11.0 1 | |& A8632 a 74 3HE4 470 220 1
¢V AN 4,65 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEA(69.2) #2: 1 %”%(53.55) #3: 13 Brk(51.28)
4 NS: BRZE[ JeEEN(REO) 2 1 2 NS: B2 STRM(BAC) 9 VP:| 6.57 13.43| Total VP: 31.64 Rank:
EW: BReE BEEE(HIC) -9 EW: 2ZF R (BO) -2 IMP:| 26 36 19
—
# aJ 4HS4 420 Mean: 4HXS5 690 9.0 1 ||# 2 a8 4SE4 -420 Mean: 4SW-1 50 60 1
v AQJ72 4HXN4 590 270  4HXN4 500 8.0 1 v KT94 PO -170 4SE- 50 60 1
¢ 643 Dif: -170 NS:4 4HS6 480 50 1 ¢ QJB74 Dif: -420 NS:-6 P 0 50 2
» 7652 IMP: -5 EW:-8 4HS4 420 40 4 » QJ2 IMP: -9 EW:-5 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
¢ AKJ * QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 [|& K96 a T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 5 5CXW6 650 -14.0 1 ||S ~~2 ~~ 432
E 44~~~ &Q3 E ~~~32 &A853
W 44~~~ ~~~33
# 3 s T82 1NW3 -150 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 5SN5 650 Mean: 4SN6 680 2.0 1
v J52 3DW-1100 40  3DW-1 100 20 2 v 942 4SN6 680 620  3NS6 690 2.0 1
+ K8 Dif: -250 NS:-5 3DE-1 100 20 1 ¢ T5 Dif: -30 NS:1  5SN5 650 1.0 1
& AQ974 IMP: -6 EW:-2 2NW-1 100 20 1 & J95 IMP: -1 EW:-2 4SS5 650 1.0 2
s Q3 ~ J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4Ss4 620 00 1
& K3 » 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1||IN 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ &JT 1NW3 450 50 2 ||E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 4HN-2 -200 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 6NE6 -1440 Mean: 3SE7 260 150 1
v J7653 4SXE6 -790 -280 3NS4 630 140 1 v K85 6NW?7 -1470 -1520 6DW?7 1390 4.0 1
* AQT2 Dif: 590 NS:2 5SXE-2 300 11.0 1 * 84 Dif: 30 NS:2 6NW7 1470 2.0 3
» 84 IMP: 11 EW:11  3HN4 170 100 1 » QT3 IMP: 1 EW:-2 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
& AQ6532 a JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~ 2~ ~ ¢ AQ984 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 3HW-3 300 Mean: 3NN5 660 60 5 ||# 8 » J972 4DW4 -130 Mean: 6DW-3 150 40 1
v AKJ32 3NN4 630 430  3NN4 630 50 3 v J8753 2SS4170 10  3SS3 140 40 2
+ AQ3 Dif: -330 NS:-4 3NN3 600 50 1 ¢ 72 Dif: -300 NS:-4 2SS4 170 40 1
& K86 IMP: -8 EW:-5 A 00 6 & K4 IMP: -7 EW:-4 2SS2 110 30 2
QT # J9854 2HW-4 400 10 1 |[aA a T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 &
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 * AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 w4 3NN-1 100 -11.0 1 |IN ~~~2~ & KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W~~~ ~ ~ 24~~3
#9 a4 JT974 4HW-1 100 Mean: 4HW-1 100 9.0 5 |[|# 10 4 AJ5 PO Mean: 2SS3 140 60 1
w5 4SXN-4 -800 -300 4HE-1 100 9.0 1 v T5 PO -110 2SS2 110 6.0 1
+ AJB6 Dif: 900 NS:9 2HW4 170 40 2 ¢ JT73 Dif: 0 NS:3 P 0 30 6
» 964 IMP: 14 EW:11 A 00 6 & QJT5 IMP: 0 EW:-3 A 00 6
& AK32 4 Q8 3NW3 600 -70 1 ||s Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
& AJT » Q83 4SXN-4 800 -11.0 1 | |a A8632 a 74 3HE4 470 220 1
¢V AN 4,65 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEAZ(69.2) #2: 1 FHEE(53.55) #3: 13 B (51.28)
5 NS: B B2 EGHO) 58 10 NS: EEF iR BREH(BAC) -14 VP:| 20.00 : 0.00 Total VP: 42.66 Rank:
EW: FE2ER #RIEEIC) 14 EW: ZZ8F BR#EE(BAO) -5) IMP:| 75 1 7
#1 »J 4HS6 480 Mean: 4HXS5 690 90 1 |[|# 2 s 8 P 0 Mean: 4SW-1 50 6.0 1
v AQJ72 4HN4 420 270  4HXN4 590 80 1 v KT94 1SE4 -170 -170  4SE-1 50 60 1
¢ 643 Dif: 60 NS:5 4HS6 480 50 1 ¢ QJ874 Dif: 170 NS:5 P 0 50 2
» 7652 IMP: 2 EW:-4 4HS4 420 40 4 » QJ2 IMP: 5 EW:0 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
¢ AKJ ¢ QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 [|& K96 ~ T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 45 5CXW6  -650 -140 1 ||S ~~2 ~~ ¢32
E 44~~~ &Q3 E ~~~32 &A853
W 44~~~ ~~~33
# 3 s T82 1NW-1 100 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4SN5 650 Mean: 4SN6 680 2.0 1
v J52 2HS-3-150 40  3DW-1 100 20 2 v 942 3SN5200 620 3NS6 690 2.0 1
+ K8 Dif: 250 NS:2 3DE-1 100 20 1 ¢ T5 Dif: 450 NS:1 5SN5 650 1.0 1
& AQ974 IMP: 6 EW:5 2NW-1 100 20 1 & J95 IMP: 10 EW:9 4SS5 650 1.0 2
s Q3  J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4S8s4 620 00 1
& K3 » 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1[N 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ aJT 1INW3 50 50 2 [|E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 3NS4 630 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 3SE7 -260 Mean: 3SE7 260 150 1
v J7653 3HN4 170 -280 3NS4 630 140 1 v K85 6NE7 -1470 -1520 6DW?7 1390 4.0 1
* AQT2 Dif: 460 NS:14 5SXE-2 300 11.0 1 * 84 Dif: 1210 NS:15 6NW7 1470 2.0 3
» 84 IMP: 10 EW:-10 3HN4 170 100 1 » QT3 IMP: 15 EW:-2 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
& AQ6532 » JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~ 2~ ~ ¢ AQ984 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 3NN5 660 Mean: 3NN5 660 60 5 ||# 8 » J972 2SS2 110 Mean: 6DW-3 150 40 1
v AKJ32 3HN-1-100 430  3NN4 630 50 3 v J8753 3SS3140 10  3SS3 140 40 2
+ AQ3 Dif: 760 NS:6 3NN3 600 50 1 ¢ 72 Dif: -30 NS:3 2SS4 170 40 1
& K86 IMP: 13 EW:11 A 00 6 & K4 IMP: -1 EW:-4 2SS2 110 30 2
QT # J9854 2HW-4 400 10 1 |[aA ~ T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 6
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 * AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 94 3NN-1 100 110 1 ||N ~~~2 ~ ¢ KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 » JT974 2HW4 -170 Mean: 4HW-1 100 9.0 5 |[|# 10 4 AJ5 PO Mean: 2SS3 140 60 1
w5 4HW4 -620 -300 4HE-1 100 9.0 1 v T5 1HE3 -140 -110 2SS2 110 6.0 1
* AJB6 Dif: 450 NS:4 2HWA4 170 40 2 ¢ JT73 Dif: 140 NS:3 P 0 30 6
» 964 IMP: 10 EW:8 A 00 6 & QJT5 IMP: 4 EW:1 A 00 6
& AK32 » Q8 3NW3 600 -7.0 1 ||a Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
& AJT » Q83 4SXN-4 800 -11.0 1 | |a A8632 » 74 3HE4 470 20 1
¢VABN 465 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEAZ(69.2) #2: 1 FHEE(53.55) #3: 13 B (51.28)
6 NS: $E{& 8 BEEZGHO) -11 14 NS: #tiRiE Z=FE(BAC) 32 VP:| 1.29 18.71| Total VP: 25.20 Rank:
EW: BEEEE BRI SC(BAC) -32 EW: [R5 E1#&15(B0) 11 IMP:| 5 41 20
e —
#1 »J 5DE-1 50 Mean: 4HXS5 690 9.0 1 [[# 2 a8 3SE3 -140 Mean: 4SW-1 50 60 1
v AQJ72 4HS4 420 270  4HXN4 590 80 1 v KT94 3SE3 -140 -170  4SE-1 50 60 1
¢ 643 Dif: -370 NS:-6 4HS6 480 50 1 ¢ QJ874 Dif: 0 Ns:1 P 0 50 2
» 7652 IMP: -9 EW:-4 4HS4 420 40 4 » QJ2 IMP: 0 EW:-1 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
¢ AKJ * QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 [|& K96 ~ T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 45 5CXW6  -650 -140 1 ||S ~~2 ~~ ¢32
E 44~~~ &Q3 E ~~~32 &A853
W 44~~~ ~~~33
# 3 s T82 3NW-3 300 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4SN4 620 Mean: 4SN6 680 2.0 1
v J52 2HS2110 40  3DW-1 100 20 2 v 942 4SS5 650 620 3NS6 690 2.0 1
+ K8 Dif: 190 NS:6  3DE-1 100 20 1 ¢ T5 Dif: -30 NS:0 5SN5 650 1.0 1
& AQ974 IMP: 5 EW:-2 2NW-1 100 20 1 & J95 IMP: -1 EW:-1 4SS5 650 1.0 2
s Q3 ~ J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4S8s4 620 00 1
& K3 » 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1[N 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ aJT 1INW3 50 50 2 [|E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 5HS-2 -200 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 7NW?7 -2220 Mean: 3SE7 260 150 1
v J7653 4HS5 650 -280 3NS4 630 140 1 v K85 7NE7 -2220 -1520 6DW?7 1390 4.0 1
* AQT2 Dif: -850 NS:2 5SXE-2 300 11.0 1 * 84 Dif: 0 NS:-12 6NW7 1470 2.0 3
» 84 IMP: -13 EW:-14 3HN4 170 100 1 » QT3 IMP: 0 EW:12 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
& AQ6532 » JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~ 2~ ~ ¢ AQ984 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 3NN4 630 Mean: 3NN5 660 60 5 ||# 8 » J972 3SS-1-50 Mean: 6DW-3 150 40 1
v AKJ32 3NN5660 430  3NN4 630 50 3 v J8753 3SS3140 10  3SS3 140 40 2
+ AQ3 Dif: -30 NS:5 3NN3 600 50 1 ¢ 72 Dif: -190 NS:-2 2SS4 170 40 1
& K86 IMP: -1 EW:-6 A 00 6 & K4 IMP: -5 EW:-4 2SS2 110 30 2
QT # J9854 2HW-4 400 10 1 |[aA ~ T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 &
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 * AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 94 3NN-1 100 110 1 ||N ~~~2 ~ ¢ KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 » JT974 4HW4 -620 Mean: 4HW-1 100 9.0 5 |[|# 10 4 AJ5 P 0 Mean: 2SS3 140 60 1
w5 4HW-1100 -300 4HE-1 100 9.0 1 v T5 PO -110 2SS2 110 6.0 1
+ AJB6 Dif: -720 NS:-8 2HW4 170 40 2 ¢ JT73 Dif: 0 NS:3 P 0 30 6
» 964 IMP: -12 EW:-9 A 00 6 & QJT5 IMP: 0 EW:-3 A 00 6
& AK32 » Q8 3NW3 600 -7.0 1 ||a Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
& AJT » Q83 4SXN-4 800 -11.0 1 | |a A8632 » 74 3HE4 470 20 1
¢VABN 465 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEA(69.2) #2: 1 %”%(53.55) #3: 13 Brk(51.28)
7 NS: BEZ7= SFIrEIEAC) -1 1 NS: E}XH8 RRFH(BO) -8 VP:| 749 : 12.51| Total VP: 35.31 Rank:
EW: BN =EZ=EEI0) 8 EW: 81815 REMEBAC) 1 IMP:| 25 32 17
—
# sJ 5CXW-1-100 Mean: 4HXS5 690 9.0 1 ||# 2 a8 4SE-1 -50 Mean: 4SW-1 50 60 1
v AQJ72 5CXW6 650 270  4HXN4 590 80 1 v KT94 3SE3 140 -170  4SE-1 50 60 1
¢ 643 Dif: -750 NS:-14 4HS6 480 50 1 ¢ QJB74 Dif: -190 Ns:1 P 0 50 2
» 7652 IMP: -13 EW:5 4HS4 420 40 4 » QJ2 IMP: -5 EW:-6 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
¢ AKJ * QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 [|& K96 ~ T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 45 5CXW6  -650 -140 1 ||S ~~2 ~~ ¢32
E 44~~~ &Q3 E ~~~32 &A853
W 44~~~ ~~~33
# 3 s T82 3DW-1-100 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4SN5 -650 Mean: 4SN6 680 2.0 1
v J52 2NW-1-100 40  3DW-1 100 20 2 v 942 4SN5 -650 620  3NS6 690 2.0 1
+ K8 Dif: 0 NS:2 3DE-1 100 20 1 ¢ T5 Dif: 0 NS:1 5SN5 650 1.0 1
& AQ974 IMP: 0 EW:-2 2NW-1 100 20 1 & J95 IMP: 0 EW:-1 4SS5 650 1.0 2
s Q3  J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4Ss4 620 00 1
& K3 » 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1||IN 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ &JT 1NW3 450 50 2 ||E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 5HXS-2 500 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 6DW7 1390 Mean: 3SE7 260 150 1
v J7653 4SXE6 790 -280 3NS4 630 140 1 v K85 6NE7 1470 -1520 6DW7 1390 4.0 1
* AQT2 Dif: -290 NS:-11 5SXE-2 300 11.0 1 * 84 Dif: -80 NS:2 6NW7 1470 2.0 3
» 84 IMP: -7 EW:6 3HN4 170 100 1 » QT3 IMP: -2 EW:-4 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
& AQ6532 » JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~ 2~ ~ ¢ AQ984 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 3NN3 -600 Mean: 3NN5 660 60 5 ||# 8 » J972 6DW-3 -150 Mean: 6DW-3 150 40 1
v AKJ32 3NN4 -630 430  3NN4 630 50 3 v J8753 3SS-150 10  3SS3 140 40 2
+ AQ3 Dif: 30 NS:5 3NN3 600 50 1 ¢ 72 Dif: -200 NS:-2 2SS4 170 40 1
& K86 IMP: 1 EW:-5 A 00 6 & K4 IMP: -5 EW:-4 2SS2 110 30 2
QT # J9854 2HW-4 400 10 1 |[aA ~ T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 &
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 * AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 94 3NN-1 100 110 1 ||N ~~~2 ~ ¢ KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 4 JT974 4HE4 620 Mean: 4HW-1 100 9.0 5 ([|# 10 4 AJ5 4HE4 620 Mean: 2SS3 140 60 1
w5 4HE-1 -100 -300 4HE-1 100 9.0 1 v T5 2SS2 -110 -110  28S2 110 6.0 1
+ AJB6 Dif: 720 NS:9 2HW4 170 40 2 ¢ JT73 Dif: 730 NS:6 P 0 30 6
» 964 IMP: 12 EW:8 A 00 6 & QJT5 IMP: 12 EW:11 A 00 6
& AK32 » Q8 3NW3 600 -7.0 1 ||a Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
& AJT » Q83 4SXN-4 800 -11.0 1 | |a A8632 » 74 3HE4 470 20 1
¢V AN 4,65 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEAZ(69.2) #2: 1 FHEE(53.55) #3: 13 B (51.28)
8 NS: FisiH BRSEEGHO) -13 9 NS: #B{E32 FFBH(BAC) 10 VP:| 4.95 15.05| Total VP: 43.37 Rank:
EW: #AT-$& ZZAEEIC) -10 EW: Z25E75 254 7K(BAO) 13 IMP:| 7 23 6
- —
#1 »J 5HXN-1-100 Mean: 4HXS5 690 9.0 1 [[# 2 a8 3SE3 -140 Mean: 4SW-1 50 60 1
v AQJ72 4HN4 420 270  4HXN4 500 8.0 1 v KT94 2NE3 -150 -170  4SE-1 50 60 1
¢ 643 Dif: -520 NS:-9 4HS6 480 50 1 ¢ QJB74 Dif: 10 Ns:1 P 0 50 2
» 7652 IMP: -11 EW:-4 4HS4 420 40 4 » QJ2 IMP: 0 EW:-1 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
* AKJ ¢ QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 [|& K96 ~ T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 45 5CXW6  -650 -140 1 ||S ~~2 ~~ ¢32
E 44~~~ &Q3 E ~~~32 &A853
W 4 4~~~ ~~~33
# 3 s T82 1NE-1 100 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4SN5 650 Mean: 4SN6 680 2.0 1
v J52 1NW1-90 40  3DW-1 100 20 2 v 942 4SN5 650 620  3NS6 690 2.0 1
+ K8 Dif: 190 NS:2 3DE-1 100 20 1 ¢ T5 Dif: 0 NS:1 5SN5 650 1.0 1
& AQ974 IMP: 5 EW:4 2NW-1 100 20 1 & J95 IMP: 0 EW:-1 4SS5 650 1.0 2
s Q3  J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4S8s4 620 00 1
& K3 » 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1[N 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ aJT 1INW3 50 50 2 [|E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 4SXWS5 -690 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 6NW?7 -1470 Mean: 3SE7 260 150 1
v J7653 5SXE6 -750 -280  3NS4 630 140 1 v K85 6NE7 -1470 -1520 6DW?7 1390 4.0 1
¢ AQT2 Dif: 60 NS:-9 5SXE-2 300 11.0 1 ¢ 84 Dif: 0 NS:2 6NW7 1470 20 3
» 84 IMP: 2 EW:10 3HN4 170 100 1 » QT3 IMP: 0 EW:-2 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
* AQ6532 » JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~ 2~ ~ ¢ AQ984 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 3NN5 660 Mean: 3NN5 660 60 5 ||# 8 » J972 4DW-1 50 Mean: 6DW-3 150 40 1
v AKJ32 3NN5660 430  3NN4 630 50 3 v J8753 4DW-150 10  3SS3 140 40 2
+ AQ3 Dif: 0 NS:6 3NN3 600 50 1 ¢ 72 Dif: 0 NS:1 2SS4 170 40 1
& K86 IMP: 0 EW:-6 A 00 6 & K4 IMP: 0 EW:-1 2SS2 110 30 2
QT # J9854 2HW-4 400 10 1 ||aA ~ T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 &
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 * AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 94 3NN-1 100 110 1 ||N ~~~2 ~ ¢ KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 4 JT974 4HW4 -620 Mean: 4HW-1 100 9.0 5 ([|# 10 4 AJ5 2SS-1-100 Mean: 2SS3 140 60 1
w5 4HW-1 100 -300 4HE-1 100 9.0 1 v T5 28S-1-100 -110  2SS2 110 6.0 1
+» AJB6 Dif: -720 NS:-8 2HW4 170 40 2 ¢ JT73 Dif: 0 NS:0 P 0 30 6
» 964 IMP: -12 EW:-9 A 00 6 & QJT5 IMP: 0 EW:0 A 00 6
& AK32 » Q8 3NW3 600 -7.0 1 ||a Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
* AJT » Q83 4SXN-4 800 -11.0 1 | |a A8632 » 74 3HE4 470 20 1
¢VABN 465 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4 ~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEAZ(69.2) #2: 1 FHEE(53.55) #3: 13 B (51.28)
9 NS: f3{EE #FEEEAC) 10 8 NS: 2Bz BRAEEE(BAO) -13 VP:| 15.05 : 4.95 Total VP: 69.20 Rank:
EW: ZEREIE Z[KEH0) 13 EW: #F 3¢ 52F8(BAC) -10 IMP:| 23 : 7 1
- o
# sJ 5HXN-1 100 Mean: 4HXS5 690 9.0 1 ||# 2 a8 3SE3 140 Mean: 4SW-1 50 60 1
v AQJ72 4HN4 -420 270  4HXN4 500 8.0 1 v KT94 2NE3 150 -170  4SE-1 50 60 1
¢ 643 Dif: 520 NS:4 4HS6 480 50 1 ¢ QJB74 Dif: -10 Ns:1 P 0 50 2
» 7652 IMP: 11 EW:9 4HS4 420 40 4 » QJ2 IMP: 0 EW:-1 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||w J63 I v A5 1NW3 4150 1.0 1
* AKJ ¢ QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 [|& K96 ~ T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 45 5CXW6  -650 -140 1 ||S ~~2 ~~ ¢32
E 44~~~ &Q3 E ~~~32 &A853
W 4 4~~~ ~~~33
# 3 s T82 1NE-1 -100 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4SN5 -650 Mean: 4SN6 680 2.0 1
v J52 INW190 40  3DW-1 100 20 2 v 942 4SN5 -650 620  3NS6 690 2.0 1
+ K8 Dif: -190 NS:-4 3DE-1 100 20 1 ¢ T5 Dif: 0 NS:1 5SN5 650 1.0 1
& AQ974 IMP: -5 EW:-2 2NW-1 100 20 1 & J95 IMP: 0 EW:-1 4SS5 650 1.0 2
s Q3  J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4S8s4 620 00 1
& K3 » 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1[N 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ aJT 1INW3 50 50 2 [|E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 4SXW5 690 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 6NW7 1470 Mean: 3SE7 260 150 1
v J7653 5SXE6 750 -280 3NS4 630 140 1 v K85 6NE7 1470 -1520 6DW7 1390 4.0 1
¢ AQT2 Dif: -60 NS:-10 5SXE-2 300 11.0 1 ¢ 84 Dif: 0 NS:2 6NW7 1470 20 3
» 84 IMP: -2 EW:9 3HN4 170 100 1 » QT3 IMP: 0 EW:-2 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
* AQ6532 » JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~ 2~ ~ ¢ AQ984 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 o A7 3NN5 -660 Mean: 3NN5 660 60 5 ||# 8 » J972 4DW-1 -50 Mean: 6DW-3 150 40 1
v AKJ32 3NN5 -660 430  3NN4 630 50 3 v J8753 4DW-1-50 10  3SS3 140 40 2
+ AQ3 Dif: 0 NS:6 3NN3 600 50 1 ¢ 72 Dif: 0 NS:1 2SS4 170 40 1
& K86 IMP: 0 EW:-6 A 00 6 & K4 IMP: 0 EW:-1 2SS2 110 30 2
QT # J9854 2HW-4 400 10 1 ||aA ~ T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 6
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 * AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 94 3NN-1 100 110 1 ||N ~~~2 ~ ¢ KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 4 JT974 4HW4 620 Mean: 4HW-1 100 9.0 5 ([|# 10 4 AJ5 2SS-1 100 Mean: 2SS3 140 60 1
w5 4HW-1 -100 -300 4HE-1 100 9.0 1 v T5 2SS-1100 -110 28S2 110 6.0 1
+» AJB6 Dif: 720 NS:9 2HW4 170 40 2 ¢ JT73 Dif: 0 NS:0 P 0 30 6
» 964 IMP: 12 EW:8 A 00 6 & QJT5 IMP: 0 EW:0 A 00 6
& AK32 » Q8 3NW3 600 -7.0 1 ||a Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
* AJT » Q83 4SXN-4 800 -11.0 1 | |a A8632 » 74 3HE4 470 20 1
¢VABN 465 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEA(69.2) #2: 1 %”%(53.55) #3: 13 Brk(51.28)
1 O NS: BT BREHEIC) -14 5 NS: BB R (F0) 58 VP:| 0.00 20.00 | Total VP: 0.00 Rank:
EW: &8 Bh#EE(BHO) -58 EW: FEE MHRIE(EAC) 14 IMP:| 1 75 21
#1 »J 4HS6 -480 Mean: 4HXS5 690 90 1 |[|# 2 s 8 P 0 Mean: 4SW-1 50 6.0 1
v AQJ72 4HN4 -420 270  4HXN4 590 80 1 v KT94 1SE4 170 -170  4SE-1 50 60 1
¢ 643 Dif: -60 NS:4 4HS6 480 50 1 ¢ QJB74 Dif: -170 Ns:0 P 0 50 2
» 7652 IMP: -2 EW:-5 4HS4 420 40 4 » QJ2 IMP: -5 EW:-5 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
¢ AKJ * QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 [|& K96 ~ T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 5 5CXW6 650 -14.0 1 ||S ~~2 ~~ 432
E 44~~~ 403 E ~~~32 %A853
W 44~~~ ~~~33
# 3 s T82 1NW-1 -100 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4SN5 -650 Mean: 4SN6 680 2.0 1
v J52 2HS-3150 40  3DW-1 100 20 2 v 942 3SN5-200 620 3NS6 690 2.0 1
+ K8 Dif: -250 NS:-5 3DE-1 100 20 1 ¢ T5 Dif: -450 NS:-9 5SN5 650 1.0 1
& AQ974 IMP: -6 EW:-2 2NW-1 100 20 1 & J95 IMP: -10 EW:-1 4SS5 650 1.0 2
s Q3 ~ J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4Ss4 620 00 1
& K3 » 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1||IN 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ &JT 1NW3 450 50 2 ||E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 3NS4 -630 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 3SE7 260 Mean: 3SE7 260 150 1
v J7653 3HN4 -170 -280 3NS4 630 140 1 v K85 6NE7 1470 -1520 6DW7 1390 4.0 1
* AQT2 Dif: -460 NS:10 5SXE-2 300 11.0 1 * 84 Dif: 1210 NS:2 6NW7 1470 2.0 3
» 84 IMP: -10 EW:-14 3HN4 170 100 1 » QT3 IMP: -15 EW:-15 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
& AQ6532 » JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~ 2~ ~ ¢ AQ984 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 3NN5 -660 Mean: 3NN5 660 60 5 ||# 8 » J972 2SS2 -110 Mean: 6DW-3 150 40 1
v AKJ32 3HN-1100 430  3NN4 630 50 3 v J8753 3SS3-140 10  3SS3 140 40 2
+ AQ3 Dif: -760 NS:-11 3NN3 600 50 1 ¢ 72 Dif: 30 NS:4 2SS4 170 40 1
& K86 IMP: -13 EW:-6 A 00 6 & K4 IMP: 1 EW:-3 2SS2 110 30 2
QT # J9854 2HW-4 400 10 1 |[aA a T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 &
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 * AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 w4 3NN-1 100 -11.0 1 |IN ~~~2~ & KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W~~~ ~ ~ 24~~3
#9 a4 JT974 2HW4 170 Mean: 4HW-1 100 9.0 5 |[|# 10 4 AJ5 P 0 Mean: 2SS3 140 60 1
w5 4HW4 620 -300 4HE-1 100 9.0 1 v T5 1HE3 140 -110 2SS2 110 6.0 1
* AJB6 Dif: -450 NS:-8 2HW4 170 40 2 ¢ JT73 Dif: -140 NS:-1 P 0 30 6
» 964 IMP: -10 EW:-4 A 00 6 & QJT5 IMP: -4 EW:3 A 00 6
& AK32 4 Q8 3NW3 600 -70 1 ||s Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
& AJT » Q83 4SXN-4 800 -11.0 1 | |a A8632 a 74 3HE4 470 220 1
¢V AN 4,65 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEA(69.2) #2: 1 %”%(53.55) #3: 13 Brk(51.28)
1 1 NS: $E5525 BRERERC) -21 3 NS: Z=§E58 ST F(BO) -1 VP:| 5.72 14.28 | Total VP: 35.57 Rank:
EW: BB BEiES(BHO) 1 EW: Eif# SR (EAC) 21 IMP:| 11 24 16
# 1 aJ 4HN4 -420 Mean: 4HXS5 690 9.0 1 ||# 2 a8 4SW4 420 Mean: 4SW-1 50 60 1
v AQJ72 5HN-150 270  4HXN4 500 8.0 1 v KT94 4SE4 420 -170  4SE-1 50 60 1
¢ 643 Dif: -470 NS:-8 4HS6 480 50 1 ¢ QJB74 Dif: 0 NS:-6 P 0 50 2
» 7652 IMP: -10 EW:-4 4HS4 420 40 4 » QJ2 IMP: 0 EW:6 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
¢ AKJ * QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 ||& K96 a T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 5 5CXW6 650 -14.0 1 ||S ~~2 ~~ 432
E 44~~~ 403 E ~~~32 %A853
W 44~~~ ~~~33
# 3 s T82 3NW-3 -300 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4SN5 -650 Mean: 4SN6 680 2.0 1
v J52 3CN-150 40 3DW-1 100 20 2 v 942 3NS6 -690 620  3NS6 690 2.0 1
+ K8 Dif: -350 NS:-3 3DE-1 100 20 1 ¢ T5 Dif: 40 NS:2 5SN5 650 1.0 1
& AQ974 IMP: -8 EW:-6 2NW-1 100 20 1 & J95 IMP: 1 EW:-1 4SS5 650 1.0 2
s Q3 ~ J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4Ss4 620 00 1
& K3 & 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1||IN 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ &JT 1NW3 450 50 2 ||E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 4SE6 480 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 6NE6 1440 Mean: 3SE7 260 150 1
v J7653 4SE4 420 -280 3NS4 630 140 1 v K85 6NE7 1470 -1520 6DW7 1390 4.0 1
* AQT2 Dif: 60 NS:-4 5SXE-2 300 11.0 1 * 84 Dif: -30 NS:2 6NW7 1470 2.0 3
» 84 IMP: 2 EW:5 3HN4 170 100 1 » QT3 IMP: -1 EW:-2 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
& AQ6532 a JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~2 ~~ »AQ94 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 1NN4 -180 Mean: 3NN5 660 60 5 ||# 8 » J972 3DW4 130 Mean: 6DW-3 150 40 1
v AKJ32 1NN5 -210 430  3NN4 630 50 3 v J8753 3DW4 130 10  3SS3 140 40 2
+ AQ3 Dif: 30 NS:-6 3NN3 600 50 1 ¢ 72 Dif: 0 NS:-4 2SS4 170 40 1
& K86 IMP: 1 EW:6 A 00 6 & K4 IMP: 0 EW:4 2SS2 110 30 2
QT ~ J9854 2HW-4 400 10 1 |[aA a T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 &
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 ¢ AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 w4 3NN-1 100 -11.0 1 |IN ~~~2~ & KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 a4 JT974 2HW4 170 Mean: 4HW-1 100 9.0 5 |[|# 10 4 AJ5 PO Mean: 2SS3 140 60 1
v5 4HW-1 -100 -300 4HE-1 100 9.0 1 v T5 1NN-2200 -110 2SS2 110 6.0 1
+ AJB6 Dif: 270 NS:9 2HW4 170 40 2 ¢ JT73 Dif: -200 NsS:-3 P 0 30 6
» 964 IMP: 7 EW:-4 A 00 6 & QJT5 IMP: -5 EW:-3 A 00 6
& AK32 4 Q8 3NW3 600 -70 1 ||s Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
& AJT » Q83 4SXN-4 800 -11.0 1 | |& A8632 a 74 3HE4 470 220 1
¢V AN 4,65 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEA(69.2) #2: 1 %”%(53.55) #3: 13 Brk(51.28)
1 2 NS: i TTRINERC) 9 4 NS: BRZE:0 SEF(BRO) 2 VP:| 13.43 : 6.57 Total VP: 40.48 Rank:
EW: &5 BEFFEEI0) -2 EW: EiiE& BRE#(FAC) -9 IMP:| 36 26 9
o
# 1 aJ 4HS4 -420 Mean: 4HXS5 690 9.0 1 ||# 2 a8 4SE4 420 Mean: 4SW-1 50 60 1
v AQJ72 4HXN4 -590 270  4HXN4 500 8.0 1 v KT94 PO -170 4SE- 50 60 1
¢ 643 Dif: 170 NS:8 4HS6 480 50 1 ¢ QJ874 Dif: 420 NS:5 P 0 50 2
» 7652 IMP: 5 EW:-4 4HS4 420 40 4 » QJ2 IMP: 9 EW:6 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
¢ AKJ * QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 ||& K96 a T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 5 5CXW6 650 -14.0 1 ||S ~~2 ~~ 432
E 44~~~ &Q3 E ~~~32 &A853
W 44~~~ ~~~33
# 3 s T82 1NW3 150 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 5SN5 -650 Mean: 4SN6 680 2.0 1
v J52 3DW-1-100 40  3DW-1 100 20 2 v 942 4SN6 -680 620  3NS6 690 2.0 1
+ K8 Dif: 250 NS:2 3DE-1 100 20 1 ¢ T5 Dif: 30 NS:2 5SN5 650 1.0 1
& AQ974 IMP: 6 EW:5 2NW-1 100 20 1 & J95 IMP: 1 EW:-1 4SS5 650 1.0 2
s Q3 ~ J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4Ss4 620 00 1
& K3 » 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1[N 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ &JT 1NW3 450 50 2 ||E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 4HN-2 200 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 6NE6 1440 Mean: 3SE7 260 150 1
v J7653 4SXE6 790 -280 3NS4 630 140 1 v K85 6NW?7 1470 -1520 6DW7 1390 4.0 1
* AQT2 Dif: -590 NS:-11 5SXE-2 300 11.0 1 * 84 Dif: -30 NS:2 6NW7 1470 2.0 3
» 84 IMP: -11 EW:-2 3HN4 170 100 1 » QT3 IMP: -1 EW:-2 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A & KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
& AQ6532 a JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~2 ~~ »AQ94 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ ¢ T965
E 4~~5~ &K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 3HW-3 -300 Mean: 3NN5 660 60 5 ||# 8 » J972 4DW4 130 Mean: 6DW-3 150 40 1
v AKJ32 3NN4 -630 430  3NN4 630 50 3 v J8753 2SS4 -170 10  3SS3 140 40 2
+ AQ3 Dif: 330 NS:5 3NN3 600 50 1 ¢ 72 Dif: 300 NS:4 2SS4 170 40 1
& K86 IMP: 8 EW:4 A 00 6 & K4 IMP: 7 EW:4 2SS2 110 30 2
QT ~ J9854 2HW-4 400 10 1 |[aA a T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 &
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 ¢ AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 w4 3NN-1 100 -11.0 1 |IN ~~~2~ & KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 a4 JT974 4HW-1 -100 Mean: 4HW-1 100 9.0 5 |[|# 10 4 AJ5 PO Mean: 2SS3 140 60 1
w5 4SXN-4 800 -300 4HE-1 100 9.0 1 v T5 PO -110 2SS2 110 6.0 1
* AJB6 Dif: -900 NS:-11 2HW4 170 40 2 ¢ JT73 Dif: 0 NS:3 P 0 30 6
» 964 IMP: -14 EW:-9 A 00 6 & QJT5 IMP: 0 EW:-3 A 00 6
& AK32 4 Q8 3NW3 600 -70 1 ||s Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
& AJT » Q83 4SXN-4 800 -11.0 1 | |& A8632 a 74 3HE4 470 220 1
¢V AN 4,65 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEA(69.2) #2: 1 %‘%(53.55) #3: 13 Brk(51.28)
1 3 NS: R AR ARGHO) 5 16 NS: BR1£5E BREISZ(BAC) -16 VP:| 16.59 : 3.41 Total VP: 51.28 Rank:
EW: BEEEE) BikREEIC) 16 EW: S8E3R ME#E(BIO) -5 IMP:| 41 : 18 3
o —
#1 »J 4HXS5 690 Mean: 4HXS5 690 9.0 1 [[# 2 a8 3SE3 -140 Mean: 4SW-1 50 60 1
v AQJ72 4HS4 420 270  4HXN4 500 8.0 1 v KT94 1NW3 -150 -170  4SE-1 50 60 1
¢ 643 Dif: 270 NS:9 4HS6 480 50 1 ¢ QJB74 Dif: 10 Ns:1 P 0 50 2
» 7652 IMP: 7 EW:-4 4HS4 420 40 4 » QJ2 IMP: 0 EW:-1 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
¢ AKJ * QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 [|& K96 ~ T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 5 5CXW6 650 -14.0 1 ||S ~~2 ~~ 432
E 44~~~ 403 E ~~~32 %A853
W 44~~~ ~~~33
# 3 s T82 3CN-1-50 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4SS5 650 Mean: 4SN6 680 2.0 1
v J52 3DE-1100 40  3DW-1 100 20 2 v 942 4SN4 620 620  3NS6 690 2.0 1
+ K8 Dif: -150 NS:-3 3DE-1 100 20 1 ¢ T5 Dif: 30 NS:1 5SN5 650 1.0 1
& AQ974 IMP: -4 EW:-2 2NW-1 100 20 1 & J95 IMP: 1 EW:0 4SS5 650 1.0 2
s Q3 ~ J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4Ss4 620 00 1
& K3 & 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1||IN 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ &JT 1NW3 450 50 2 ||E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 5SXE-2 300 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 6NE7 -1470 Mean: 3SE7 260 150 1
v J7653 4SE6 -480 -280 3NS4 630 140 1 v K85 7NW?7 -2220 -1520 6DW?7 1390 4.0 1
* AQT2 Dif: 780 NS:11 5SXE-2 300 11.0 1 * 84 Dif: 750 NS:2 6NW7 1470 2.0 3
» 84 IMP: 13 EW:5 3HN4 170 100 1 » QT3 IMP: 13 EW:12 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
& AQ6532 » JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~ 2~ ~ ¢ AQ984 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 3NN5 660 Mean: 3NN5 660 60 5 ||# 8 » J972 4DW4 -130 Mean: 6DW-3 150 40 1
v AKJ32 2HW-4 400 430  3NN4 630 50 3 v J8753 4SS-2-100 10  3SS3 140 40 2
+ AQ3 Dif: 260 NS:6 3NN3 600 50 1 ¢ 72 Dif: -30 NS:-4 2SS4 170 40 1
& K86 IMP: 6 EW:1 A 00 6 & K4 IMP: -1 EW:3 2SS2 110 30 2
QT # J9854 2HW-4 400 10 1 |[aA ~ T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 &
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 * AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 w4 3NN-1 100 -11.0 1 |IN ~~~2~ & KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 4 JT974 3NW3 -600 Mean: 4HW-1 100 9.0 5 ([|# 10 4 AJ5 4HE4 -620 Mean: 2SS3 140 60 1
w5 4HW4 -620 -300 4HE-1 100 9.0 1 v T5 2SS3 140 -110  2S8S2 110 6.0 1
* AJB6 Dif: 20 NS:-7  2HW4 170 40 2 ¢ JT73 Dif: -760 NS:-11 P 0 30 6
» 964 IMP:1 EW:8 A 00 6 & QJT5 IMP: -13 EW:-6 A 00 6
& AK32 » Q8 3NW3 600 -7.0 1 ||a Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
& AJT » Q83 4SXN-4 800 -11.0 1 | |a A8632 » 74 3HE4 470 220 1
¢V AN 4,65 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEA(69.2) #2: 1 %”%(53.55) #3: 13 Brk(51.28)
1 4 NS: HtHiE Z=52=EHC) 32 6 NS: $E{2{& HEEREFO) 1 VP:| 18.71 1.29 | Total VP: 42.56 Rank:
EW: B E FEMEEI0) 11 EW: FREEE Hel3Z(BAC) -3 IMP:| 41 5 8
I o
#1 »J 5DE-1-50 Mean: 4HXS5 690 9.0 1 |[# 2 8 3SE3 140 Mean: 4SW-1 50 60 1
v AQJ72 4HS4 -420 270  4HXN4 590 80 1 v KT94 3SE3 140 -170  4SE-1 50 60 1
¢ 643 Dif: 370 NS:4 4HS6 480 50 1 ¢ QJB74 Dif: 0 NS:1 P 0 50 2
» 7652 IMP: 9 EW:6 4HS4 420 40 4 » QJ2 IMP: 0 EW:-1 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
¢ AKJ * QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 [|& K96 ~ T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 5 5CXW6 650 -14.0 1 ||S ~~2 ~~ 432
E 44~~~ 403 E ~~~32 %A853
W 44~~~ ~~~33
# 3 s T82 3NW-3 -300 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4SN4 -620 Mean: 4SN6 680 2.0 1
v J52 2HS2-110 40  3DW-1 100 20 2 v 942 4SS5 -650 620  3NS6 690 2.0 1
+ K8 Dif: -190 NS:2 3DE-1 100 20 1 ¢ T5 Dif: 30 NS:1 5SN5 650 1.0 1
& AQ974 IMP: -5 EW:-6 2NW-1 100 20 1 & J95 IMP: 1 EW:0 4SS5 650 1.0 2
s Q3  J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4Ss4 620 00 1
& K3 & 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1||IN 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ &JT 1NW3 450 50 2 ||E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 5HS-2 200 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 7NW7 2220 Mean: 3SE7 260 150 1
v J7653 4HS5 -650 -280 3NS4 630 140 1 v K85 7NE7 2220 -1520 6DW7 1390 4.0 1
* AQT2 Dif: 850 NS:14 5SXE-2 300 11.0 1 * 84 Dif: 0 NS:-12 6NW7 1470 2.0 3
» 84 IMP: 13 EW:-2 3HN4 170 100 1 » QT3 IMP: 0 EW:12 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
& AQ6532 » JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~ 2~ ~ ¢ AQ984 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 3NN4 -630 Mean: 3NN5 660 60 5 ||# 8 » J972 3SS-1 50 Mean: 6DW-3 150 40 1
v AKJ32 3NN5 -660 430  3NN4 630 50 3 v J8753 3SS3-140 10  3sS3 140 40 2
+ AQ3 Dif: 30 NS:6 3NN3 600 50 1 ¢ 72 Dif: 190 NsS:4 2SS4 170 40 1
& K86 IMP: 1 EW:-5 A 00 6 & K4 IMP: 5 EW:2 2SS2 110 30 2
QT # J9854 2HW-4 400 10 1 |[aA ~ T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 &
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 * AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 w4 3NN-1 100 -11.0 1 |IN ~~~2~ & KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 » JT974 4HW4 620 Mean: 4HW-1 100 9.0 5 |[|# 10 4 AJ5 PO Mean: 2SS3 140 60 1
w5 4HW-1 -100 -300 4HE-1 100 9.0 1 v T5 PO -110 2SS2 110 6.0 1
+ AJB6 Dif: 720 NS:9 2HW4 170 40 2 ¢ JT73 Dif: 0 NS:3 P 0 30 6
» 964 IMP: 12 EW:8 A 00 6 & QJT5 IMP: 0 EW:-3 A 00 6
& AK32 » Q8 3NW3 600 -7.0 1 ||a Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
& AJT » Q83 4SXN-4 800 -11.0 1 | |a A8632 » 74 3HE4 470 220 1
¢V AN 4,65 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEAZ(69.2) #2: 1 FHEE(53.55) #3: 13 B (51.28)
1 5 NS: HE& BABEIC) -24 2 NS: E51E ZRZ(FH0) 8 VP:| 2.32 17.68 | Total VP: 34.71 Rank:
EW: #5855 EZZEI0) -8 EW: EZE M 3L7IIE(BAC) 24 IMP:| 10 39 18
-
# 1 aJ 4HS4 -420 Mean: 4HXS5 690 9.0 1 ||# 2 a8 4SW-1 -50 Mean: 4SW-1 50 60 1
v AQJ72 4HN4 -420 270  4HXN4 590 80 1 v KT94 4SW4 420 -170  4SE-1 50 60 1
¢ 643 Dif: 0 NS:4 4HS6 480 50 1 ¢ QJ874 Dif: -470 NS:-6 P 0 50 2
» 7652 IMP: 0 EW:-4 4HS4 420 40 4 » QJ2 IMP: -10 EW:-6 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
¢ AKJ ¢ QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 [|& K96 ~ T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 45 5CXW6  -650 -140 1 ||S ~~2 ~~ ¢32
E 44~~~ &Q3 E ~~~32 &A853
W 44~~~ ~~~33
# 3 s T82 1NW3 150 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4S5S4 -620 Mean: 4SN6 680 2.0 1
v J52 1NW-1-100 40  3DW-1 100 20 2 v 942 4SN5 -650 620  3NS6 690 2.0 1
+ K8 Dif: 250 NS:2 3DE-1 100 20 1 ¢ T5 Dif: 30 NS:1 5SN5 650 1.0 1
& AQ974 IMP: 6 EW:5 2NW-1 100 20 1 & J95 IMP: 1 EW:0 4SS5 650 1.0 2
s Q3  J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4S8s4 620 00 1
& K3 » 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1[N 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ aJT 1INW3 50 50 2 [|E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 5HS-3 300 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 6NW7 1470 Mean: 3SE7 260 150 1
v J7653 5SXE6 750 -280 3NS4 630 140 1 v K85 6NE7 1470 -1520 6DW7 1390 4.0 1
* AQT2 Dif: -450 NS:-10 5SXE-2 300 11.0 1 * 84 Dif: 0 NS:2 6NW7 1470 2.0 3
» 84 IMP: -10 EW:1 3HN4 170 100 1 » QT3 IMP: 0 EW:-2 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
& AQ6532 » JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~ 2~ ~ ¢ AQ984 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 1HW-2 -200 Mean: 3NN5 660 60 5 ||# 8 » J972 4DW-1 -50 Mean: 6DW-3 150 40 1
v AKJ32 3NN-1100 430  3NN4 630 50 3 v J8753 2SS2-110 10  3sS3 140 40 2
+ AQ3 Dif: -300 NS:-11 3NN3 600 50 1 ¢ 72 Dif: 60 NS:3 2SS4 170 40 1
& K86 IMP: -7 EW:6 A 00 6 & K4 IMP: 2 EW:-1 2SS2 110 30 2
QT # J9854 2HW-4 400 10 1 |[aA ~ T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 6
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 * AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 94 3NN-1 100 110 1 ||N ~~~2 ~ ¢ KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 4 JT974 4HW-1 -100 Mean: 4HW-1 100 9.0 5 ([|# 10 4 AJ5 3HE4 170 Mean: 2SS3 140 60 1
w5 4HW4 620 -300 4HE-1 100 9.0 1 v T5 3HE3 140 -110 2SS2 110 6.0 1
* AJB6 Dif: -720 NS:-8 2HW4 170 40 2 ¢ JT73 Dif: 30 NS:-1 P 0 30 6
» 964 IMP: -12 EW:-9 A 00 6 & QJT5 IMP:1 EW:2 A 00 6
& AK32 » Q8 3NW3 600 -7.0 1 ||a Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
& AJT » Q83 4SXN-4 800 -11.0 1 | |a A8632 » 74 3HE4 470 20 1
¢VABN 465 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AN >\ ¢ —_—
4 1NEFFrABERF 2R e ==> R4 4
AVA
#1: 9 BEA(69.2) #2: 1 %”%(53.55) #3: 13 Brk(51.28)
1 6 NS: BE{EE BESZEC) -16 13 NS: R BHRAR(BHO) 5 | VP:| 3.41 : 16.59| Total VP: 39.13 Rank:
EW: #iBE MREREBEO) -5 EW: [RES) 5REE(BAC) 1 IMP:| 18 41 15
o
#1 »J 4HXS5 -690 Mean: 4HXS5 690 9.0 1 [[# 2 a8 3SE3 140 Mean: 4SW-1 50 60 1
v AQJ72 4HS4 -420 270  4HXN4 500 8.0 1 v KT94 1NW3 150 -170  4SE-1 50 60 1
¢ 643 Dif: 270 NS:4 4HS6 480 50 1 ¢ QJB74 Dif: -10 Ns:1 P 0 50 2
» 7652 IMP: -7 EW:-9 4HS4 420 40 4 » QJ2 IMP: 0 EW:-1 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
* AKJ * QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 [|& K96 ~ T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 45 5CXW6  -650 -140 1 ||S ~~2 ~~ ¢32
E 44~~~ &Q3 E ~~~32 &A853
W 44~~~ ~~~33
# 3 s T82 3CN-150 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4SS5 -650 Mean: 4SN6 680 2.0 1
v J52 3DE-1-100 40  3DW-1 100 20 2 v 942 4SN4 -620 620  3NS6 690 2.0 1
+ K8 Dif: 150 NS:2 3DE-1 100 20 1 ¢ T5 Dif: -30 NS:0 5SN5 650 1.0 1
& AQ974 IMP: 4 EW:3 2NW-1 100 20 1 & J95 IMP: -1 EW:-1 4SS5 650 1.0 2
s Q3  J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4Ss4 620 00 1
& K3 » 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1||IN 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ &JT 1NW3 450 50 2 ||E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 5SXE-2 -300 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 6NE7 1470 Mean: 3SE7 260 150 1
v J7653 4SE6 480 -280 3NS4 630 140 1 v K85 7NW7 2220 -1520 6DW7 1390 4.0 1
* AQT2 Dif: -780 NS:-5 5SXE-2 300 11.0 1 * 84 Dif: -750 NS:-12 6NW7 1470 2.0 3
» 84 IMP: -13 EW:-11 3HN4 170 100 1 » QT3 IMP: -13 EW:-2 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
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